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BL8505

SOT-89-3 | TO-92 | SOT-23-3 | SOT-89-5 | SOT-23-5
Vss
1 1 1 5 4 GND
2 2 2 2 2 Vout
3 3 3 4 5 Lx Ext
1 3 NC
3 1 CE
CE
BL8505-XX1SM XXV SOT-89-3
BL8505-XX1T XXV TO-92
BL8505-XX1RM XXV SOT-23-3
BL8505-XX2RN XXV SOT-23-5
BL8505-XX2SN XXV SOT-89-5
BL8505-XX3SM XXV SOT-89-3
BL8505-XX3T XXV TO-92
BL8505-XX3RM XXV SOT-23-3
BL8505-XX4RN XXV SOT-23-5
BL8505-XX4SN XXV SOT-89-5
— | OUT] Lx
e =
1 mm
# _|_ Error Axp
™~ - Iriver
Q ' r% T —I>°—LL"3
Reference Overeurrent [
Comparsat or $
BL8505 Vss
v [
-0.3v~12v
Lx -0.3V~(Vout+0.3)
CE -0.3V~(Vout+0.3)
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BL8505

Lx 0.7A
,Pd T=25°C
SOT-89-3 0.95w
TO-92 0.5W
SOT-23-5 0.3W
150°C
-30~+80°C
-40~125°C
260°C,10S
0.8 Vout V
10 100 uH
47 UF
" 100 UF
-20 85
Vin 1.8V Vout 3.3V lout 1mA TA=25°C
2.646 2.7 2.754
2.94 3.0 3.06
3.234 3.3 3.366
Vou 3528 36 3672 v
3.92 4.0 4.08
4.9 50 51
Vin 12 Vv
lin lout=0mA 80 UA
lout=1mA
Vstart Vin 02V 0.8 0.9 V
lout=1mA
Vhold Vin 250V 0.6 0.7 Vv
IDD Vout 30 40 55 UA
=Voutx1.05
VIx=0.4V
ILx Vout=Vout*0.96 150 mA
ILXleak Vout=VIx=6V 0.5 uA
LX
Fosc Vout=\out*0.96 100 150 200 kHZ
Maxdty On Vix' L 70 75 80
side
n 87
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BL8505

1 Diode 0.3V 0.3A 1N5817,1N5819,1N5822
2 47uH(R<0.5Q)
3 100uF( )
D INSHLT
Vin WOV I | NI |1
L 47uH \,—I bl J
- Tia  BLES0S Flowl
4TuF L -r.nuT
100wl Tan
v
BL8505 BOOST PFM DC-DC
2.5V~5.0vV
PFM
PFM BL8505
PFM
+2%
100ppm/

BOOST DC-DC

Vout —Vin
Vout

D
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BL8505

BOOST DC-DC
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BL8505

DC-DC DC-DC

5~10%
IN5817 1IN5819 1N5822

4
DC-DC
DC-DC DC-DC 10uF
1 loag=1MA
Dinde
L —_
— ' Y
Vinm S : .
Yot
= T W | HY
C1=1000F
0 Fliasi
T T =
2 loas=1MA
| [ o
S
Win g TR |r Ll .|
L P
Yol
[ QT =
= ol BLaS0G
C1=]10m#E | € o u]
] -
g d o d
3 l1oag=1mMA
Dinde
L —_
— s Y
Ying T —s—
o
Whoiat
L DU =
T T el B0 TH BLB&0S
L1=1000F GHO
0 Pt
7 T b
4

Ver1.0 6/10



BL8505

R
L ouT 1 0
BL850S Q@
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-/ C —— Vout
P Pl
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R
1
L |
[ L ouT ]
T BL&50S
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i ES — “in
s e
Vin= *0.95 R=1KQ.
( Cin=10uF,Cout=220uF, TA=25°C )
1 Output Voltage VS. Output Current L=10uH
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BL8505

2 Efficiency VS. Output Current

BL8505-331SM Efficiency VS. Output Current
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BL8505

Output Voltage(V)

BL8505-331SM Output Voltage VS. Output Current
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Efficiency VS. Output Current L =100uH
BL8505-331SM Efficiency VS. Output Current
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7 RippleVoltage VS. Output Current L=47uH

Ripple Voltage Vr(mVp-p)

BL8505-331SM Ripple Voltage VS. Output Current
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BL8505
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